1. BRI

BTE RMEE-EE

(B FNA4ES H REAE)
I i ax % PEIEE
BB ﬁ@jhr penr | PR | e | mREs |
Ax TR
1 0 0 3 1 4 3 2
(& R 2 —)
2. TRHEERR
FE B griep | ostprr | coteme | g0t | B | omem | ste
X4y 264F 1 TLAE
—HRA 14 (G5 14 It 14 It 14 (Gs
- 39 30 33 46 43 38 40 38
—HERA 4 1 — — — — — —
DO FEIR & 204 159 153 159 162 150 154 135
RUA 11 4 1 — — — — —
EENIEEN 193 144 231 202 215 176 186 129
ﬁﬂ‘z| BCG 50 34 37 34 37 34 35 37
JELL A — — — — — — — —
JFRL A L AR A 89 88 85 67 96 78 74 66
v 201 150 149 162 146 159 158 142
/N2 BR B 199 150 150 162 144 157 155 142
K 116 90 70 78 70 76 64 77
BRI %% — — 58 117 104 119 113 101
BH A LA — — — — — — 39 74
1 SEE 0 2 1 3 — 2 5 30
mn 1,363 1,376|  1,413] 1,389 1,400 1450 1,708] 1,573
(TN T ’ ’ ’ ’ ’ ’ ’ ’
e i il 2 BR A 259 226 245 240 207 90 96 88
Frilan o LR — — — — — — —| 15,385

() R 2AED B RIFALRY A, FF2ENDR I T A VA FFMEPLH U an G (L2
(F) HRE7TIT BGR) IR (7T BEE, 5 HEE) R 7T SR, T HEE RERYA)

3. THDINEDIRN

(&R Rl 2 —)

(4F: B R BIAE)
X4y
= SRS 1IAN1EHZHD
g | AT | R S Pt
A \ t t g
AT 1,447 3.96
4 Fn
SRR 7,113 | Rk 257 0.70 750
IR 244 0.67

_27_

(&) PEZEEREER)




4. LJRINERBIOAIL T KB LB DRI

(4 N34 FERBLE)
1A1H
X 4y LuB:io e YNy u| U & H == H7=0
HE =
. A BB (ke) (k0) ©)
R 345 442 1.21 3.51
V- A 15K & (k) (ko) ()
et 463 248 0.68 1.47
. Al Bk B (of) (nd)
e 6,305 1,171,946 3,210 -
(B ok FE2EBRBE R b FAH )
5. AEFERBBIORE RN
i ko N ]
T [ (I ES « HEJ) OB ([ KEHEE| R OB Z D R ALPH R
X455 -
b s — 1 1 1 — 3 6
qiﬁ%k Bl 100
QTR g — 1 ! 1 — 3 6
= — — 1 — — 2 3
QR4 - 100
WL — — 1 — 2 3
= — — 2 — — 3 5
294 i ! 100
ALER — — 2 — 3 5
= — — 3 — — 2 5
3045 i 100
LR — — 3 — 2 5
o | T I T S S R
TR g — — — 2 — — 2
B 4 — 7 — — — 11
2UEE i 100
LEE 4 — 7 — — 11
= 1 — 3 — — — 1
SEJE - 100
JLER 1 — 3 _ _ 4

_28_

(&R PEZEERBEAD)




	p27
	p28

